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C. Length and Area
1. Whatis the precision of the metric ruler? em

2. Compute the area (Area =  base * height) of the triangle shown below using each of the 3 sides as the base.
o find the height, you aust draw a line that is perpendicular (90" angle) to the base and infersects the comer
opposite the base (see diagrams below).If you have drawn all three height lines correctly, they should intersect
ata single poiat.

Base AB Base AC Base BC

Length of base (cm)

Height from base (cm)

Area (cad)
(full caleutator readout)
“Area (car)
(sounded)

‘Show your calculations for at east ane of your area deferminations. Watch unifs and significant figures.

Questions
C1) I all of your measurements for the triangle had been perfect, what should have been true about al the.
area values you calculated? Which of your area calenlations — the full readouts or the values corrected.
for sig figs — do you thisk are more reliable, and why? Why do we use significant figures when
reporting a derived quantity, such as area or density?




